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Q.1 Match the correct pairs : ( Use the pencil and draw lines )

Element [protons] Electronic Configuration
1. Magnesium[p=12] a) 2,8,3
2. Sulphur[p=16] b) 2,8
3. Neon[p=10] cl 2,8,2
4. Calcium[p=20] d 28,6
5. Aluminium[p=13] e) 2,882

Q. 2 Choose the word options and drag them into the correct places:

1. Atoms of the same element having the atomic number but

different mass number.
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2. This is to tell us the total number of protons and neutrons present

in a neutral atom.

3. It is formula to determine the maximum number of electrons in

each shell of an atom.

4. This is to tell us the number of electrons or protons that are

present in a neutral atom.

5. This tells us the number of electrons donated or accepted by an

atom to achieve a stable electronic configuration. _
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